grupo
AlmagroMur

VALVULAS Y ACCESORIOS PARA RIEGO
Y OBRA CIVIL

ADAPTADORES: eripamutripiameTro

1 CUERPO CENTRAIFLANGE BODY FUNDICION DUCTIL GGG-50DUCTILE IRON
2 BRIDA/BRACKET FUNDICION DUCTIL GGG-50DUCTILE IRON
3 JUNTA DE CIERRERUBBER SEAL E.P.D.M.E.P.D.M.
4 TORNILLERIA/RECTANGULAR BOLT ACERO CINCADOSTEEL
EA
jr]n]
1
| | | o
| s
| Tl
o 1
| —
m [
i
L > |
: |
b % | Z
DN

GRUPO ALMAGROMUR, S.L  Pol.Ind.La Polvorista C/cieza S/N  30500-MOLINA DE SEGURA (MURCIA) B 968-616060 Fax: 968-612953
i1 comercial@grupoalmagromur.es

BUVE
150 9001

BUREAU VERITAS
Certification

BUpa
=157

1828



o~ -,.e . B
| | {
Al ;‘ |

AlmagroM ur

ULA _ESORIOS PAR
r YOO A ~I\ /
\.' OBRA f. AV, !:_

DIMENSIONESDIMENSIONS

DN @D2 L B @K C E F A P H PESO

300 |311-349 | 455 | 28 | 400-410 | 23/28| 205 | 287| 490 | 103| 6-M16X160 | 36.00

300 | 351-389 | 455 | 28 | 400-410 | 23/28| 235 | 317| 530 | 145 6-M16X160 | 39.00

350 |351-389 | 520 | 31 | 460-470| 23/28| 205 | 287|530 | 115 6-M16X160 42.00

400 |396-434 | 580 | 32| 515525 28/31| 235 | 315|576 | 130| 6-M16X160 56.00

400 | 436469 | 580 | 32| 515525 28/31| 245 | 327| 615 | 140| 6-M16X160 58.20

500 | 471-504 | 715 | 34 | 620-650 | 27/37| 250 | 337| 626 | 150 6-M16X160 | 72.30

500 | 506539 | 715 | 34 | 620-650 | 27/37| 165 | 245 683 | 60| 10-M16X160 | 73.40

500 |>41-574 | 715 | 34 | 620-650| 27/37| 240 | 320| 718 | 135| 10-M16X160 84.20

600 |611-644 | 840 | 36 | 725-770| 30/36| 165 | 245/ 788 | 60| 10-M16X160 84.60

GRUPO ALMAGROMUR, S.L  Pol.Ind.La Polvorista C/cieza S/N  30500-MOLINA DE SEGURA (MURCIA) B 968-616060 Fax: 968-612953
i1 comercial@grupoalmagromur.es

10 9001

BUREAU VERITAS |
Certification




